





—— . - ~ ~_~— —_

T containing 2n+3 elements, then the (.} In+] Eb\ 1“3
number of subsets having more than n+1 elements are
{.1‘ zzn — ‘—Tb} 2 1 -_

Fna) () 2"

k} Let A and B be any two sets having 11 elermnents in P th} L\1+3

common, then the number of elements commeon in AXB l n+ 3 C C +
-2 wey t Cnay T

and BXA Is - ! =<
(a) 11 =

(c)1 211
A Th@mm%h (-3,-2,1,2) by n{" 2}"“ L
R =T1(x, y): |x-y|< 5} is given by —_’)’ﬁ*ﬁ !’n &

(a) {(-3,-2),(-3,1),-3,2),(-2,1)} l'A 0% In/ T
(b) ((2,1),(3,2),(1,2)} > (Ans) X [®n
S (© {Z2LD,L-3),(-2,3)} oM — l ( A NN ,ﬂ’“") ‘ ; 4%
Aph)K

None of these
4.\};1,;sethatement N @Q‘UA’ A dlrd ({0

(a) Evey |rref1ex relation on a Lm_ls’Symmetnc ( Q ( q)
)((b) Eve on a set A is always anti_ [
symmetric - 1
y 1y Az )i

Y
f{c] E set on any set is always an equivalence reianon
w
very Asymmetric relation is irreflexive.
5. If Ais any non-empty set with the cardinality “n then th
number of Asymmetric relation is ( "~ \ ,1/
n

a)2™ (b) 3™
(n(n-1))/2 (d) 37t
6. LetA= {1 2}, then Relation S={(1,1), (1, 2}} is
—_— =
(a) Reﬂex:ve 7°
(b) Irreflexive 7°

{c) Symmetric 70
(d) Neither reflexive nor irreflexive /
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(b) Irreflexive T

(c) Symmetric )‘
(d) Neither reflexive nor irreflexive /

7. A nonempty relation which is reflexive relation cannot be
(a) Symmetric
(b) Asymmetric
(c) Transitive
(d) None of these
= relation is
L/B./ I(fa:;:—s/ls , then the number of equivalence rel > L g ” W
\
(c) 50 ﬁ

9. The relation “greater than” on the set of natural number

is
(a) Only reflexive (b) Only Symmetric
(e) Only transitive (d) Equivalence relation
10. For real number x and y, we define a relation x R y& x-y

+y5 is an irrational number .Then the relation R is

(a) Reflexive (b) Symmetric

(c) Transitive (d) Equivalence relation
11. Quotient set of an uncountable set cannot be

(a) Finite (b} Countable

(c) Uncountable (d) None of these
12. Which of the following is an equivalence relation on the

set of integers

(a) mRn &mn =0 (bymRn < mn >0
(c)mRn & |m| = |n| (dymRn &mn <0
13. Which of the following statement is true? _ 0

(a) Intersection of two equivalence relation on a set is g 7(0/)_/
again an Equivalence relation. - ?(OO —

(b) Inverse of an equivalence relation is not an /('zg = DY +O a'ﬁiq - q
equivalence relation. R © (4 x A) JR™I={ly, x): (%, )€ o g- + ’ e —

< =

R} | €A

{¢) Union of two equivalence relation is again an W Né

equivalence relation.

(d) None of these L’ \~
ﬁ Let Z, be the set of integers. Define a R bifand only if "a + (‘.q
W)

b” is a myltiple of 5. Then relation is
g o 1) e

Symmetric

(c} Transitive w’%_. é" 4’"@‘9 zr

(d) Not an equi ce relation
L/S The number of fidt'onto mapyfrom a set A of 5 elements \__-2
to a set B of 3 elements ) M, 01\{'0
-2 ) N

(a) 120 V74 (b) 125 0 §C 5
(c) 100 (d) 135 [S ) _‘1,'3-( (Xl's) -leq,, (f)

16. Let A ={2,3,4,5} and Let R={(2,2),(3, 3),(4,4), (5.4)} be a

relation o‘ .Then Ris (:Symmetric Y - f&b‘o — 0(’2 }) /’/ ( J( S)
(d) None of these 45T l)
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‘,,4Group Ineory

t containg
glj“,gase contains 15~ o o
5, then
th

ots of A having exactly “yq»

1100 :-}1 Slements i & Mumber of
@ - (b) 1165
ks (d) 1365

Lrabedny set, then the poyg,
# 8 finite [h:mmhﬁ
e Uncountable Mbh infinite ( l, -~ C/\I‘W
gmpty relation on a%; Mpty @ "I‘J(
¥ IWW

) only Irreflexive
© neither reflexive not irreflexjye
I poth reflexive and irreflexive ﬁ L { 6‘
fRis an equivalence relation on A 4 .
which of the following is possible nd a, b € A, then
a) cl{a)nCli(b) # @ but Cl(a) =l ()
(p) clla)nCi(b) = @
(o) Cita)nCl(b) = {0}
{d) None of these

o

[fthere are “m" nu

ber ,. any set

(b) (b) Equal to the whole set P

(c) Equal to x
/B 1

(d) None of these
3. Minimum number of transitive relation on @ set whosev\l’k -

cardinality is “n” is equal to FZN)
on always Cﬁ ,/ /

ofigxive relati

tural numbers) as

!ﬂ' umber of partition 2
i, Define a relation ~ O N
a~b < afb € Z(set of inted
(a) Reflexive
(b) Symmetric
(c) Transitive
(d) None of these

(set of na
ers)va,bE N
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